20163 A= A 9 o AHH Al A

o Ak - +75%] (¢4
3 B
4 3 A 71 3 | 5= 7 A= % ()
#* 8|5 A7} F Al B] &
A4 493,291 495,589 -2,298
1. A AR A o] A =) 26,821 26,821 0
1.H A A7 26,821 26,821 0
1. 7] 2R A X A A ) & 26,821 26,821 0
v} 2} =] tF %
L7 ERA AR 2 e A 26,821 26,821 0
Z5
2. WA EH I A o] ¢ 388,412 390,710 -2,298
1.0 EH 3 AAYEFY 388,412 390,710 -2,298
1.gus AAdF 388,412 390,710 -2,298
1.3 du A+ 268,161 268,161 0
=3t Aot A = on| 5 =
) - 8,954,000%
SFnS oA A Y (161,0009 X 1al ~793.000
) - 884,0009 =
A ZFA| ZFA1 AN - ©] ) —
A A AR ZANH] ¢ (11,460,00090 X 11) ~630.000
12,090,000 =
EFuG AR 54 1 (50,0009 X 1al) ~550.000
- 600,0009 =
FE AR Y 370,350 X 1a = 371,000
3.7]Ete] M54 78,058 78,058 0
1.3 a3 A zro) A4 7,458 7,458 0
1.8t u s Al A Y+ 7,458 7,458 0
‘I.D}%@ﬂﬂﬁlﬁ%}% 7,458 7,458 0
2.7kl M54 70,600 70,600 0
1.71El 9= 70,600 70,600 0
‘1.7115}11%% 70,600 70,600 0
2. AA Y 119,150, 119,150 0
1.8 5549 118,394 118,394 0
1.5 A=) 118,394 118,394 0
1.5214) 75,765 75,765 0
1.2 75,765 75,765 0
2. %753k gHE | 33,130 33,130 0
1. %75 w g 33,130 33,130 0
1 kel 1 2017-02-27




20163 A= A 9 o AHH Al A

off Ak - 753 (9]
e CCRICRIEE £ W 2(3)
#lw g 5| ansgue | TES | A
3.7 4 9,499 9,499 0
1. 72 A ] 9,499 9,499 0
2. PR GE59) 756 756 0
1.7/ A S 559 756 756 0
1.0 A% 74 74 0
1,012k 9) 74 74 0
2. 716} A &< 682 682 0
1784 S 554 632 682 0
3.7l 5,680 5,883 -203
1. Adzo| Y 5,680 5,883 -203
1.=MAI) oA F 5,680 5,883 -203
1.eAAG A= 5,680 5,883 -203
1.eAAY A= 5,680 5,883 -203| A A Y A F(F) © -203,000¢] X 12L= -203,000
Al SY & A 618,121| 620,622 -2,501

=

2 Elai 2017-02-27

il
i




